(@) arl: o0.=0 b: o_=372kPa cr: o,_=91.5kPa

() ax: o0_.=0 bri: o_=18.6kPa cr.: o_=274kPa
drmi: o,_=52.6kPa

2. fB: ) z=075m b=3m %:o.zs
0fi: x=0, =0 a_=096 o =192kPa

B. B'A:  x=0.75, %:0.25 a.=09 o, =180kPa

Sz

A NB: x=15, %:o.s a.=05 o,=100kPa
X
2 x=0 b=3m ==0
b
z=0.75m, %: 025 «.=096 o =192kPa

z=1.5m, %: 05 «_=082 o =164kPa

z=3m, %:1 a.=055 o =110kPa

z=6m, %: 2 a.=031 o .=62kPa

3. f#: (1)om é=14 %:2 a,=0.1034 o =4a,P,=04136P,
(2)Ask Ty 25 4 —013s Lotz 2o a,-00947
b b b b
0., =2(a —ac, ) P, =0.0806P, 920 513
7

1
PR A L) IRy e,=¢,=~(1+¢,)
Y 0



p=50kPa s=048mm e=0.737  p=100kPa
p=200kPa s=1.232mm e=0.67 p =400kPa
0.1MPa”"
a , =04MPa"” “ E,=4.28MPa
<0.5MPa”

5. fif: (1) FI5EBRIET R R

1) s 2

s =0.808mm

s=1.735mm

R oY B R

0.4b=0.4x4=1.6m FJKEH TKAIE 2.4m [A73HZ, = 1.2m.

WRAKAMAT 5 4 2, 82 1.6m, I6.4m .

2) WHEAD RN B ERN

z; (m) | o.=2rh (kPa) (m) |o.=2rh (kPa)
1.2 35.2 5.6 77.44
2.4 54.4 7.2 88.96
4.0 65.92 8.8 100.48
3) S A I NS )
py =55t G g oakpy
z (m) /b z/b a, o =4a,p, (kPa)
1.2 1.0 0.6 0.2229 83.8
2.4 1.0 1.2 0.1516 57
4.0 1.0 2.0 0.084 31.6
5.6 1.0 2.8 0.0502 18.88
7.2 1.0 3.6 0.0326 12.26
8.8 1.0 4.4 0.0227 8.54

e=0.71

e=0.626




2 =88m  Too 59 008502 o bR ER.
o, 10048
4) TFELH R R G
o.= | Pu=0u _
Py = e.—e,.

A i ¥ E I I As =L 2 p
Z (m) B | 0410, | 0410, o +o_| e e, l+e,
SRR 2 2

kP
(kPa) (kPa) (kPa) (mm)

1.2 @ 88.9 25.6 114.5 0.975 | 0.942 20

2.4 @ 70. 4 46. 1 116.5 0. 968 0.94 17.07

4.0 ® 44. 3 60. 2 104.5 0.957 | 0.948 7. 36

5.6 @ 25.24 71.7 96. 94 0. 956 0.95 4.91

7.2 ® 15. 57 83.2 98. 77 0.952 | 0.947 4.1

8.8 ® 10.4 94. 72 105. 12 0.951 | 0.948 2.46

&it 46. 08

(2) ML
Wz, =88m 2m<b<4m EHFK2-101%: Az=0.6m
WwHRLG=F: h=24m  h,=58m  h,=0.6m
D HHE,

P, =602kPa ¢ =0957 p,=1145kPa e, =0942 a=-21—2-0276MPa "'
P, — D
E =174 _ 7 00MmPa
o
2) FIRIE As,
Py (Eizi _OZZH)
po=94kPa  E, =7.09MPa As,= - w. =0.993
N
Z (m) - _ - Zizi a_iZz —KZH Asz
/b z/b a, a, =4a,
(m) (m) (mm)
0 1.0 0 0. 25 1.0 0 —
2.4 1.0 | 1.2 | 0.2149 0. 86 2. 004 2. 004 27. 36
8.2 1.0 | 4.1 | 0.1092 | 0.437 3. 58 1.516 20. 1




8.8 1.0 | 4.4 | 0.1035 | 0.414 3. 64 0. 06 0.8
Hits 48. 26
s=y.s' =47.93mm
6. fitt: 1=3m b=2m F,=550kN M, =250KNm d=10m

Gy =120KN  e= Me 0.373m < L 0.5m
F. +G, 6

Pimin _ 28.4kPa
Pin 195kPa

7 fi#: G,=96KN P =124kPa o_.=2084kPa  p,=103.16kPa




